Quiz one
Student name: . Student 1D:

Q1. What are the neoclassical economic assumptions about people
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Q1. Discuss the forms of market effici dthet
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What are the three supports on

. ne of them
which market efficiency rests? Why is it that only o
is required?
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List the four key anomalies we had discussed in class, then discourse any one of them.
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Question One: differentiate between the following
1. Integration and segregation
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Question Two: discuss the fourfold pattern A B
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Question Three: What is the value funchon:.
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